1. KEBEMITRE (FHTE2R57)

XHAR | XHRH XHE-NEE & (M)
2A1B| £ & |2EBRIFERERMNERRAIIENERON 7,000
2R12B| = B [ER-RBEREESZHFEOH 10,000
2A158| & B (MHEZEE HE-SIX0R(FH) 5,000
2A198| & B (BWETRAHEREE HE-SXoi(FR) 5,000
28218 E% |gemraer @snemsoRdi 3500
28218 BN |mmmae a@snems o G x285) 7000
28218 E% |lgmmae @snemsoRdi) 3500
2278 & B |BRTBAEXRSHEE-SHIX0OHF(FHR) 5,000
2ANB| = B |gpssngsoln 8,000
a8 i 54,000




2. & (SR EE)

XHES | HB(ZBAS) | REtHH | *BE(EZAD) RE &
= =1 3 21 25,000 126,500
B *R 3 20 14,000 155,270
G2 = 3 13 15,000 126,050
R & v 0 0 0 0
1= 0 2 0 10,000
5 G 0 2 0 288,000
Zz O 0 26 0 308,096
a H 9 84 54,000 1,013,916




